Economics 101

Fall 2004

Answers to Practice Questions 10
1. (Externality)

(a)  The unregulated market equilibrium is characterized by the intersection of the private cost curve and the demand curve. Thus, 100-Q=10+Q. The market equilibrium quantity is Q=45. The market equilibrium price is P=55.

(b) Socially optimal equilibrium is characterized by the intersection of the social cost curve and the demand curve. The social cost is given by 10+Q+0.5Q. Thus the socially optimal quantity is given by 100-Q=10+1.5Q.

The socially optimal quantity is Q=36. The price is P=64. See Figure 1.

(cThe government can impose a tax so that after tax market equilibrium coincides with the equilibrium you obtained in part (b). To obtain the vertical difference between the new and old private cost curves in Figure 2, notice that the value of the new private cost at Q=36 is 64. The value of the old private cost at Q=36 is 46. Therefore, the size of the tax should be 64-46=$18.

2. (Public goods)


(a) 9+5=$14.

(b) The efficient number of fire workers is 3. This is from setting marginal benefit to Sue and Joe taken as a whole and marginal cost ($12) equal.

3. (Example of positive externalities)

Answer: (c)

Note that (b) is an example of a negative externality.

4. (Externalities of public goods)

Answer: (d)

5. (Production of goods with externalities)

Answer: (d)
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